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§7. 0 SEDVEERT AL IUNIZEES

1. % cd = R—LTALIN)NTEE)
2. % mkdir chapO07 = T4LVMN)chap07%&4ERL
3. % cd chap07 = T4LMN)chap07~T&El
4. % pwd = EETALIN)DFESR
RBZFIFLT:, JUBELGT7MILEE




§7. 1 J7MILNERFE

T7AINBEIRE

strings, wc, grep

, strings Z741JL(EBEEFHIIREAN)
T7AIDNEOCXFIERTT D EINAH)T7AIVERL DAL
2.
% strings /bin/ls

» we T7AIV(ERBRHIIREAS)

T7AIVOITE, FER, /NMNERTT .
$ 1ls /bin/
$ 1ls /bin/ | wc

§7. 1 J7AMIVABRFEERE)

, grep '3FHIT TPAIL(EREEHIAEEAT)
ERRBULDNBIRER
F 7L a (R BRRFFE E FTRE)
;L = —HT5TEFT
-v = —HLGLMTERT
-n = XTI IAINTETELRT

% grep '“r' /etc/passwd
% grep -v '“r' /etc/passwd




§7. 2 T7AIL)—h

Z714IL)—~
sort, uniq
» sort T7AIL(EEEFFHIFEEAN)
T7AMIVDREZE)—+T %
A7 L av (RS E FTRE)

-t = t/\L—E2DIEE

-n = HFCIEFGEEELTHERT D
-r = MIEZY—+T 3

+#F = V—rF—ORRAIE(SEEL0)
-HF = rORTHEH

$ 1ls -al /bin/ | sort
$ 1ls -al /bin/ | sort -n +4 -5
%$ 1ls -al /bin/ | sort -n -r +4 -5

§7. 2 I7M1IV)—ERE)

» uniq F7AIL(ERERHIAREAN)
BEETOHE—t
AT a3 (-cASME BFERF 15 E T RE)
L = -d&-uDFRFFHEEZE{KE
-d = BEITOATTR
-u = BEELTLVELMTOHFRT
-c = FEEEHOFRT

cat /etc/passwd

cat /etc/passwd /etc/passwd

cat /etc/passwd /etc/passwd | sort

cat /etc/passwd /etc/passwd | sort | uniq




§7. 3 J7AILHLER

T7AILHER
cmp, comm, diff, diff3,
patch, dircmp
, cmp 7AIL1 T7AIL2
22N T7A VDR LE
AT av
L = BRUIDA—HRIOVWTXFUBLITESERT
-1 = 2TOFR—HOVWTXFUBLITESERT

$ vi a b

11 22
22 33
$ cmp a b

a b differ: char 1, line 1

§7. 3 T7AILLLEHERE)

» comm J7AIL1 T7AIL2
20N 774 IVDRE ELE
AT a (B HERFE EaTHE)

L = 1ASLEZT7AIL1IEHZBR/N DT
2HSLBEIZTPAI2EHITR N BT
3T LEZEADIT7AIUZR N BT

-1 = 1h5LEEHIE

-2 = 2h5LBEHIE

-3 = 3h5.LEEHIE

11 22
22 33
$ comm a b
11

22 . fTEEIZ[Tab]h’2{E
33 . {TEEIZ[Tab] H 1{E




§7. 3 T7AILLLEHERE)

» diff T7AIL1 T7AIL2

% diff a b
1d0
< 11 . 774 IallLHVEL VT
2a2

> 33 ... T7AILplTLHVELMT

» diff3 T7AIL1 T7AIL2 T7AIL3
% diff3 a b ¢
1:1,2c ...774)LalZLhvEL T
11
22
2:1,2c .. 77AILlTLHVGELMT
22
33
3:1c L IPAINclIULDEULMT
33

§7. 3 T7AILLLEHERE)

,» patch (REZEAHDH)
difEDFEREFO>TI7AILEEH
% diff a b
1d0
< 11 .. 774)LallLhiGELMT
2a2
> 33 . 7AILblIUHVELMT
% diff a b > p
% patch a < p
Hmm... Looks like a normal diff to me...
Patching file a using Plan A...
Hunk #1 succeeded at 1.
Hunk #2 succeeded at 2.
done
% cat a
22
33




§7. 3 T7AILLLEHERE)

, dircmp TALIN)1 T4LIM)2
22D T ALIN)DRNE LLER
BROI7ANELDDTALINIZAESAL, cp -rZHE-THAEETS
B&IZEA
ATiav
-s = RAELN—HTE77IUET HERELIE
-d = RBELNT—BOBEdLffDRTHRELRMA

§7. 5 SHORE

data07lZ, EEFEWEBY—/\D2004F 2 A20BDEF RO H HS.

v L ERERR(O7MILOITER)EZRD L.
» 2  ARRAMRITEOESE ZRATRIERD L.
> 13 EHEERROZVIEIZ LSRR ESIEEE L.
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